Derivatives involving trig functions
AP Calc AB

4. If f(x)=x+sinx, then f'(x)=

(A) 1+cosx (B) 1-cosx (C) cosx

(D) sinx—xcosx (E) sinx+xcosx

6. If f(x)=$, then f'(%]:
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7. —cos“(x7) =
dx =)

(A)  6x*sin(x*)cos(x>)
(B)  6x*cos(x®)

(C) sin?(x*)

(D) —6x7sin(x’)cos(x’)

(E) 2 sin(x3 ) cos(x3 )

8. If y=sinx and y(") means “the nth derivative of y with respect to x,” then the smallest positive

integer n for which y™ =y is
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If y=tanx—cotx, then Q=
dx

(A) secxcscx (B) secx—cscx (C) secx+cscx (D) sec? x—csc? x (E) sec? x+csc? x

If y=cos2 3x, then d_y=
dx

(A) —6sin3xcos3x (B) —2cos3x (C) 2cos3x
(D) 6¢c0s3x (E) 2sin3xcos3x

. sin(x+%)—sinx is

h—0 h

A 0 B) 1 (C) sinx (D) cosx (E) nonexistent

An equation of the line tangent to the graph of y =cos(2x) at x = % is

(A) y—1=—(x—ﬂ
(B) y—l=—2(x—§j
© y=2(x—fj
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12. If f(x)=sinx, then f(gj
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15. If f(x)=e™%, then f'(x)=

A) ptan’

(B) sec’x ol x

(C) tan?x o™ 1

(D) 2tanxsec’xe™ ¥

(E) 2tan xe™

16. If f(x):sin(e—"), then f'(x)=

(A) —cos(e™)

(B) cos(e ¥)+e
(C) cos(e¥)—e*
(D) e *cos(e™)

(B) —e *cos(e™)
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If y=2cos| = |, then —==
g (2) dx?

(A) —8cos (

N | =

If y=cos?x—sin’x, then )’ =

(A) -1 (®B) 0 (C) -2sin(2x)

tan3(x + 1) —tan3
The fim 2223(r+8) ~tan3x
h—0 h

(A) 0 (B) 3sec’(3x)  (C)

j (B) —2cos (gj (C) —sin (%)

(D)

sec? (3x)

x 1 X
(D) _COS(E] (E) _ECOS(E]

—2(cos x+sin x)

(D) 3cot(3x)

(E) 2(cosx—sinx)

(E) nonexistent



